
Lecture 10 - February 9

Reactive System: Bridge Controller



Announcements

• Lab2 released
• WrittenTest1 guide released

+ Verify EECS account on a WSC machine
+ Verify PPY account and Duo Mobile on eClass
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Bridge Controller: State Transitions of the Initial Model
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Before-After Predicates of Event Actions

- Pre-State
- Post-State
- Sate Transition
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Lecture

Reactive System: Bridge Controller

Initial Model: Invariant Preservation



Design of Events: Invariant Preservation
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Sequents: Syntax and Semantics
Syntax

Semantics
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PO/VC Rule of Invariant Preservation
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